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Part: A

1: Which statement is true about Net Search Extender (NSE)?
A.It is installed automatically.

B.It is transactional.

C.It is namespace aware.

D.It is XML aware.

Correct Answers: D

2: What must be run in order for the optimizer to determine the frequency of data in the database?
A XMLQUERY

B.XMLEXISTS

C.RUNSTATS

D.Net Search Extender (NSE)

Correct Answers: C

3: What is NOT a recommendation concerning page size for XML?
A.have only one page size in the entire database with a single buffer pool
B.use the largest page size possible when managing relational data

C.be mindful that documents with fewer regions offer better performance
D.choose page size depending on document size

Correct Answers: B

4: Which statement is true about DB2 Net Search Extender (NSE)?

A It is an Internet search product like Google.

B.It is an extension that provides excellent text search capabilities for e-business applications.
C.Itis a generalized free text search product like Verity or Autonomy.

D.It is an XML database that supports application requirements.

Correct Answers: B

5: Which XML document is well-formed?
A .<a><b>bla</a>

B.<a><b>bla</b></a>

C.<aid=15></a>

D.<b>bla</b>

<c>blub</c>

Correct Answers: B

6: Which expression will cause an invalid index definition error in the index defined as UNIQUE?
A¥

B.@

C.//

D.text()

Correct Answers: C



7: Which statement is FALSE about trigger processing for XML validation?
A Triggered validation is needed in applications using EAI and SOA.

B.IS VALID or IS NOT VALID are the only tests allowed with WHEN.
C.XMLVALIDATE is one of many allowed functions.

D.Trigger support is limited to validation on insert and updates of documents.

Correct Answers: C

8: Which expression in DB2 9.5 is used for node-level XML document update?
A TRANSFORM

B.FLWOR

C.FOR

D.LET

Correct Answers: A

9: Which query retrieves an output identical
db2-fn:xmlcolumn("XMLCUSTOMER.INFO");?

A.xquery db2-fn:sqlquery("select info from xmlcustomer");

B.xquery count(db2-fn:xmlcolumn("’XMLPRODUCT.DESCRIPTION")
/product[description/price < 40]);

C.xquery db2-fn:sqlquery("select info from xmlcustomer where cid = 1002");
D.xquery db2-fn:xmlcolumn(XMLCUSTOMER.INFO')
/customerinfo[addr/city="Toronto']/name;

Correct Answers: A

10: What is the maximum size of an XML document stored natively in DB2 9.57
A.500 MB

B.1GB

C2GB

D.4 GB

Correct Answers: C

11: Which statement is true about XML attributes?
A.Attributes are typically shorter than elements.
B.Attributes can be repeated.

C.Attributes can be extended.

D.Attributes are less efficient than elements.

Correct Answers: A

to

xquery

12: When registering XML Schemas, which step in the multi-step operation detects missing

documents?
A.XSR_COMPLETE
B.XSR_REGISTER
C.XSR_ADDSCHEMADOC



D.DROP XSROBIJECT
Correct Answers: A

13: Which operator is used for index ANDing when there are wildcards in the predicate?
A RIDSCN

B.XISCAN

C.XANDOR

D.IXAND

Correct Answers: D

14: What is the abbreviated syntax for self or descendant nodes?
A@

B.*

C..

D.//

Correct Answers: D

15: Which feature of DB2 9.5 makes it simple to compress XML data because a reorg is no longer
necessary?

A RUNSTATS

B.cost-based optimizer

C.Automatic Dictionary Creation (ADC)

D.Net Search Extender (NSE)

Correct Answers: C



